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3 TIMES TABLE SHEET 1 L]

1 3x6 = 2 3x__

2) 5x3 2 __x3

3) 3x0 = 23 __x3=0
a) 8x3 = __ ) 3x__ =2
5) 3x7 = % __x3=2
6) 3x3 26)

7) 4x3 27)

8) 9x3 = ___ 28)

9 3x8 = 20 __x3 =33
10) 12x3 = 30 3x___ =18
1) 3x8 3 x3

12) 7x3 32 3x___

1) 3x11= 3 x3 =2
1) 6x3 = ) 3x___ =12
15) 3x9= 3 __x3 =2
16) 2x3 = % x3 %6
1) 3x12 5 37 3x___ = 30
18) 3x3= 38 3x___ = 3
19) 0x3 = 39 __x3=3
20) 1x3 40)  3x___ =33

Key question: what do you notice about the total of the digis n the answers to
the three times tables? R




